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Final Examination Answers
1.a. Ho: u >= 145 lbs.
Ha: u < 145 lbs. (claim)

1.b. t = -4.4

1.c. to = -2.492 with df =24 and alpha = .01

1.d. Reject the Ho.

1.e. At the 1% level of significance there is sufficient evidence to

conclude that the average weight of Americans who smoke more than two

packs a day wiegh less than 145 lbs.

2.a. Ho: sigma sqrd <= 10 mg/12 oz. (claim)
Ha: sigma sqrd > 10 mg/12

oz.

2.b. chi sqrd = 30.0

2.c. chi sqrd critical value = 24.996 with 15 df and alpha = .05

2.d. Reject Ho.

2.e. At the 5% level of significance there is sufficient evidence to

conclude that the variance is > 10 mg/12 oz.

2.f. P-value = a value between [.025 and .01]. This is from Appendix B,

Table 6.

3.a. r = .913

3.b. There is a strong positive linear correlation between cost and EER.

3.c.i. Ho: p <= 0
Ha: p > 0 (claim)

3.c.ii. to = 2.015

3.c.iii. t statistic =  5.00

3.c.iv. Sufficient evidence exists at the 5% level to reject the Ho and

conclude that a significant positive linear relationship exists between

cost and EER.

4.a. slope = m = 55.99

4.b. intercept = b = -167.05

4.c. se = sqrt(1391.8/5) = 16.68

4.d. r^2 = .8336

4.e. y-hat = 336.9; E = 49.27 and the prediction interval is [287.6 -

386.2]

5.a.  Ho: p = .85 (claim)
Ha: p not= .85

5.b.  p-hat = 110/120 = .9166 Sine both np and nq are >= 5 we use a z

statistics and calculate z = 2.04

5.c. This is a two-tailed test so,  zo = +(-) 2.575

5.d. Do not reject the Ho.

5.e. At the 1% level of significance there is insufficient evidence to

conclude that the polling company's claim is false.

5.f. P-value = .0414. This is calculated by using Appendix B, Table 4  and

look up the area under the standard normal curve for a z = 2.04. The area

to the left of this z-value = .9793. The area to the right = .0207. To

obtain the P-value multiply by two and obtain our answer.

6.a. E = .065. We use the formula from Section 6.3.

6.b. n = 317
7. P(x=4) = .09  Use the binominal formula.

8.a. class width = (18 - 12) / 3 = 2 + 1 = 3

class
frequency

12-14
3

15-17
6

18-20
1

8.b. 3

8.c. 14.5 - 17.5

8.d. 15.4  Use formula for mean of grouped data.

9.a. Ho: sigma sqrd 1 (smokers) = sigma sqrd 2 (non-smokers) 9.b. F = 2.27

9.c dfN = 31; dfD = 27 and alpha = .05. Use two-tailed test and find

critical values from Appendix B, Table 7 on alpha = .025 page as (approx)

Fo = 2.12

9.d. Reject Ho.

9.e. At the 5% level of significance there is

sufficient evidence to conclude that the variances of the heart rates of

smokers and non-smokers are different.

BONUS

a. Use t-test for dependent samples


Ho: ud = 0 (claim)
Ha: ud not= 0

b. t = 3.36

c. df = 4; alpha = .10; two tailed test.  to = 2.132

d. Reject Ho.

e. At the 10% level of significance there is sufficient evidence to

conclude that there is a difference between the two observers records of

Doppler measurements.

As usual, if you spot any errors let me know. Thanks and good luck.

